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(H29) (H30) (RD3)
150 155 155 150
(A) <)
200
150 )
150 ey
100
50 B
0 W28 W29 W0 Rx  R0Z  RO3
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2, 208n3 1000— -0
30 7 kil
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(H9) (H30) (RO3)
18 18 14 25
(ED) *
30 14 30 )
25 R
20 e
15 ~v
10
. ]|
. , ] | ()
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200 =
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(%) :‘l_
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6
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2
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(#) Se-
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5
4
3
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0 F28 A2 H30  Rex  R0Z  RO3
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30 221 40
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AN N N

H9

H30

118



N N N N N N

04
(oot
C 04-01- 01
C 04-01- 02
C 04-01- 03
C 04- 01-04
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30 536 1.2 100 (
80
6.4 2.0 40
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- m
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H28 H29 H30 RIT RO2 RO3
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H28 H29 H30 RIT RO2 RO3
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17.3 16. 3 17.7 20.0
(%) S
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80
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40
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- m
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H28 H30 RIT RO2 RO3
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(%) S
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40
a0 m
. | . | )
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H28 H29 H30 RiT RO2 RO3
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04-02- 01 )
100%
(HR9) (HB0) (RO3)
31.3 34.9 31.3 50.0
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30 —
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1, 299 - 1,648 2, 100
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0 ; 0 0
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47 —g===mp———=—""""""" -
42 60
40
29 3 30 - m
2 . , . ‘ ()
H28 H29 H30 R7T RO2 RO3
Hp9 HBO
21,723 21,001

139



04 D)
04-03 )
04-03-02 )
(H29) (H30) (RD3)
2,173 2,293 2,077 2,337
(A)
2,500 -*
.—t‘-‘-q ——————————— L )
2,000
216 1,500
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- m
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